۱-تجهيز اجهزة صالات عمليات جراحة الكسور / جهاز Operation Orthopedic Table رقم المفاتحة / OR 68/2023/34 R

شركة MEDI TRADING

مكتب اشور

Item	QTY	Unit Price	
Operating Table for Orthopedic	The second of	Unit Price	Total Price
Specialing radio for Orthopedic	24	\$56,000.00	\$1,344,000.00
One Million, Three Hundred		Total in USD	\$1,344,000.00

# ۲- تجهیز اجهزة صالات عملیات جراحة الکسور / جهاز OR 68/2023/34 R رقم المفاتحة / R

شركة ELITE

مكتب النخبة

#### أدناه العرض المالي:

No.	QTY	Description	Model	Manuf. / Origin	Unit Price USD	Total Price USD
1.	24	Operating table for orthopedic	HyBase 6100	Mindray / China	60,000.00	1,440,000.00
2.	1	CIP Baghdad			Included	Included
3.	1	Installation & Warranty 5 years (spare parts & labor)			Included	Included
	•	Tota	al Price USD	UL.		1,440,000.00

Total Price in Figure: \$ 1,440,000.00

Total Price In word: one million four hundred forty thousand US Dollars

٣- تجهيز اجهزة صالات عمليات جراحة الكسور / جهاز Operation Orthopedic Table رقم المفاتحة / OR 68/2023/34 R

شركة MEDIFA

مكتب جنة الفوز

(b)									it Price		price on Total DDP at End- users' site along with Incidental
-	+				Quantit		[Bidd	er may insert	permissible Cu	irrency ]	series
		Brief Description of Goods			y offered and physical unit	Country of Origin	CIP Price / End User (A)	DDP Price / End User (B)	Emergency services as stated in requirement schedules (C)	DDP Price / End with Users emergence services B+C=D	(D) 3X5
1	Operating Table										
	CIP Baghdad	1	11		24	Germany	\$63,393.68	Not Applicable	Not Applicable	Not Applicable	\$1,521,448.34
	-	11 30		1			Included	Not Applicable	Not Applicable	Not	Included

Grand Total of Bid price: 1,521,448.34 <u>USD</u>

<u>One Million - Five Hundred Twenty-One Thousand - Four Hundred Forty-Eight US Dollars and Thirty-Four Cents</u>

<u>Delivery Period: according to our offer No. (JAF - 7723/23 R1) dd.19.09.2023</u> as per INCOTERMS® current edition <u>Not Applicable</u>

Agent Name & Address: Jannet Al Fawz Scientific Bureau / Hai Al Wihda Str.58, House32A, AREA 904 / BAGHDAD - IRAQ

# 3- تجهيز اجهزة صالات عمليات جراحة الكسور / جهاز Operation Orthopedic Table رقم المفاتحة / OR 68/2023/34 R

## شركة LAB CONSULT

	1		2		3	4		5
National No.	Seller Code	Item No.	Brief Description of Laboratory Supplies and Equip	Brief Description of Laboratory Supplies and Equipment Quantity Country Price per p			Price per phy	sical unit USD
	No		Product	Packing Unit Size	and physical unit		CIP Unit Price Baghdad USD	CIP Total Price Baghdad USD
n/a	n/a	1.	Schmitz OPX mobilis RC 30 L Operating Table Universal Operating Table, one-touch provide an elevated surface that supports the patient's body during operated surports propedures.	88	24	Germany	24,620.20	590,884.8

National	Seller	Item	Delet Description 41 1		3	4		5
No.	Code	No.	Brief Description of Laboratory Supplies and Equip	ment	Quantity		Price per phy	sical unit USD
	No		Product	Packing Unit Size	and physical unit	of Origin	CIP Unit Price Baghdad USD	CIP Total Price Baghdad USD
			Accessories:		255.035		100000	
n/a	n/a	1.1	Head rest double-adjustment, servo-assisted weight compensation, detachable at the push of a button, with integrated X-ray cassette tunnel.	ea	24	Germany	909.80	21,835.20
n/a	n/a	1.2	2 Section leg section (pair) divided, swivelling and folding, servo assisted, with integrated weight compens, detachable	ea	24	Germany	1,631.30	39,151.20
n/a	n/a	1.3	Arm rest covered foam pad, antistatic, height adjustment range: 80 mm, one-touch swivelling through 360°, turning and tilling up	88	48	Germany	1,406.60	67,516.80
n/a	n/a	1.4	to 47-35°, incl. clamp, 600 x 170 mm (W x D)  Extension device extension bars with firm positive double joints for swivelling and height adjustment. Joint in the bar can be adjusted either horizontally or vertically for optimal X-ray accessibility.  Shiftable traction units mounted on the extension bars; swivelling in any direction by ball-and-socket joint	ea	24	Germany	9,767.10	234,410.40
			All metal parts are made of electropolished stainless steel 18/10.  Complete with hasin accessories:				4	

	1		2		3	4	(1)	5
National No.	Seller Code	Item No.	Brief Description of Laboratory Supplies and Equip	ment	Quantity	Country of Origin		sical unit USD
7	No	Unit Size physic		and physical unit	or Origin	CIP Unit Price Baghdad USD	CIP Total Price Baghdad USD	
2			2 foot plates for adults 2 traction boots for adults 1 countertraction post for dorsal position, adjustable	-1				
C n/a	n/a	1.5	Transport trolley Rack for transporting and storing the extension device.	ea	24	Germany	1,241.10	29,786.40
n/a	n/a	1,6	Rack for accessories SST square-section tubular frame with 5 rails for attachment of accessories and 1 basket, antistatic swivel castors. Overall dimensions: 630 x 580 x 1430 mm (W x D x H)	88	24	Germany	1,881.80	45,163.20
n/a	n/a	1.7	Shoulder support (pair) including 2 clamps 101.0117.0, 2 antistatic pads (120x200mm) and 2 attachment bars to adjust pads horizontally and vertically.	ea	24	Germany	1,030.00	24,720.00
n/a	n/a	1.8	Gel pad for lateral positioning to relieve the shoulder joint and protect the nerve tracts, for surgical interventions on the hip, shoulder or kidney, 720 x 500 x 160 mm (W x D x H)	63	24	Germany	806.60	19,358.40
n/a	n/a	1.9	Gel pad for lateral positioning to relieve the shoulder joint and protect the nerve tracts, for surgical interventions on the hip, shoulder or kidney, 720 x 500 x 160 mm (W x D x H)	ea	24	Germany	585.60	14,054.40
n/a	n/a	1.10	Gel sacral protector to provide support in the supine and lithotomy positions, adult size, 450 x 445 x 30 mm	ea	24	Germany	368.00	8,832.00

	1		2		3	4		5
National No.	Seller	Item No.	Brief Description of Laboratory Supplies and Equip	ment	Quantity	Country of Origin	Price per phy	rsical unit USD
0000	No	1 (2)33	Product	Packing Unit Size	and physical unit	or Grigin	CIP Unit Price Baghdad USD	CIP Total Price Baghdad USD
n/a	n/a	1.11	Knee positioning device with motor driven height adjustment, comes with setting clamp and footswitch	ea	24	Germany	7,374.90	176,997.60
n/a	n/a	1.12	Humerus positioning device for intramedullary nailing of the upper arm, vertical rod and horizontal linear guide with accessory rail, adjustable by	ea	-24	Germany	1,565.70	37,576.80
an'			means of locking ball-and-socket joint, for attachment of the Weinberger hand traction device 101.0163.1 (to be ordered separately). Requires attachment clamp 101.0146.0.	11				
n/a	n/a	1.13	Wristlet to be attached to anaesthetic frame, 101.0012.0, washable and exchangeable textile strap with hook-and-loop fastener, stainless steel attachment	ea	24	Germany	84,90	2,037.60
n/a	n/a	1.14	Anaesthetic frame stainless steel, with twist protection, height adjustable, with clamp 101.0146.0	08	24	Germany	388.00	9,312.00
n/a	n/a	1.15	Body restraint strap with stainless steel attachment elements, washable and exchangeable, hook-and-loop fasteners, 1.350 mm long, 120 mm wide.	ea	24	Germany	200.60	4,814.40
n/a	n/a	1.16	Attachment clamp stainless steel, non-swivel type, with release and lock, suitable for squaresection poles 20 x 20 mm	ea	24	Germany	246.50	5,916.00

	1		Z		3	4		5	
National No.	Seller			Quantity	Country of Origin				
	No	Product Packing an Unit Size phy	and physical unit	Ol Oligan	CIP Unit Price Baghdad USD	CIP Total Price Baghdad USD			
n/a	n/a	1.17	Attachment clamp swivel type, suitable for poles of 16 to 18 mm clam., stainless steel	68	48	Germany	235.20	11,289.60	

### TOTAL PRICE FOR SINGLE UNIT INCLUDING ABOVE MENTIONED ACCESSORIES

Ontional Accessories

	2				3	4	5		
	Seller	Item No.	Brief Description of Laboratory Supplies and Equipment	ment	Quantity	Country of Origin	Price per physical unit USC		
.,,,,	No		Product	Packing Unit Size	and physical unit	o. o.igii	CIP Unit Price Baghdad USD	CIP Total Price Baghdad USD	
n/a	n/a	1.43	clamp, swive's through 90°, foam pad 210 x 260 mm, (W x D). Requires attachment clamp 101.0117.0 Weinberger hand traction device -Option for intramedulary nating of the upper arm, vertical rod and horizontal linear guide with accessory rail, adjustable by means of looking ball-and-socket joint, for attachment to the humerus positioning device and shoulder traction Hand traction device can be sterilised.	од	24	Germany	998.70		

#### TOTAL AMOUNT CIP BAGHDAD

Installation and Training:
On-site installation and training will be carried out by us free of charge.

USD 1,343,656.80

# $^{o}$ - تجهيز اجهزة صالات عمليات جراحة الكسور / جهاز Operation Orthopedic Table رقم المفاتحة / OR 68/2023/34~R

شركة ALVO

مكتب الحوراء

	7		3	- 4			5		6
20	Brief Description of goods					Price	per Unit	HERO-VICE CO.	1000
Alvo 1 Code (b)		Unit pack size	QTY offered (PCS)	Origin	CIP Price / 1 PC (a)	DDP at End User price (b)	Incidental service (c).	DDP at End User + Incidental Services (d)=(b)+(c)	Total Price 3x5(d)
4-02-521	Kimadia Description: Operation table for Ortho surgery  Alvo Description:  ETIUDA Operating table with electro - hydraulic drive + alternative drive 5-section tabletop: leg plates (R+L), seat plate, two-part back plate (with kidney elevator), head plate. Longitudinal shift adjustable mechanically	Pcs	2 Pos	Poland	\$16,666.97	694		\$16,666.97	\$33,333.94
4-04-531	Alvo Alternative 1: Serenade Operating table with electro - hydraulic drive + alternative drive 5-section tabletop, Leg plates R+L, seat plate, two-part back plate /with kidney elevator/, head plate, electro- hydraulic movement of the back plate and of kidney elevator. Longitudinal shift adjustable mechanically.	Pcs		Poland	\$20,261.51			\$20,261.51	•
4-04-551	Alvo Alternative 2: Screnada B Operating table with electro - hydraulic drive + alternative drive 5-section tabletop, Leg plates R+L, seat plate, two-part back plate /with kidney elevator/, head plate, electro- hydraulic movement of the back plate and of kidney elevator. Longitudinal shift adjustable mechanically.	Pos		Poland	\$21,251.47			\$21,261.47	-

Grand Total of Bid price: \$33,333.94 (In figures)

Thirty Three Thousand, Three Hundred & Thirty-Three USD and Ninety-Four Cents. (In words)

آ- تجهيز اجهزة صالات عمليات جراحة الكسور / جهاز OR 68/2023/34 R
 رقم المفاتحة / OR 68/2023/34 R

شركة الاتقان المجهزة

مكتب الاتقان

Item No.	Description	Part No.	Qty.	Total Price in USD
	Trimano			
1	Trimano Fortis	100230A0	1	
2	Adapter Trimano Fortis	100231A0	1	
3	Trimano arm rest	100243B0	1	
	Total Price for One Unit in USD		1	10,764.71
	Total Price for 24 Unit in USD		24	258,353.00

۷- تجهیز اجهزة صالات عملیات جراحة الکسور / جهاز Operation Orthopedic Table
 رقم المفاتحة / OR 68/2023/34 R

شركة القنوان

#	Product	Model	Unite Price	Qty	total
1	Operation Table (Orthopedic)	W5	\$58,000	24	\$1,392,000
	لا غير	ون ألف دولار	ا ثلاثمانة و إثنان وتسع	ا قط مليون و	ا لمجموع النهائي : ف